MAT 099 - Summer 2014 - Test4

Instructor: Dr. Francesco Strazzullo Name l/(l’ )/

Instructions. Only calculators are allowed on this examination. Each problem is worth 10 points. Always use the
appropriate wording and units of measure in your answers (when applicable). SHOW YOUR WORK NEATLY, PLEASE
(no work, no credit).

1. Perform the indicated operation on the rational expressions and reduce your answer to lowest terms.
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2. Perform the indicated operation on the rational expressions and reduce your answer to lowesf terms.
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3. Perform the indicated operation on the two ralional expressions and reduce your answer to lowest terms.
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4. Consider the following equation:
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Step 1. State any restriction(s) on the variable. If a restriction is not needed, write "No Restriction",
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Step 2. Solve the cquation and simplify your answer. Write your solution as either an integer or a simplified fraction. If the
equation has no solution, write "No Solution”.
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5. The volume of a gas in a container varies inversely with the pressure on the gas. If a gas has a volume of 240 cubic

inches under a pressure of 7 pounds per square inch, what will be its volume if the pressure is increased to 10 pounds
per square inch? (Round off your answer to the nearest cubic inch.)
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6. Jimmy and John, working together, can paint a 300 ft long standard fence in 6 hours, Working alone, Jimmy takes;3
.. hours and half more than John to complete the same job, How long does it take John to paint the same fence alone?
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7. Simplify the expression by combining the radical terms using the indicated operation(s). Assume all variables are
positive.
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6. Jirmy and John, working together, can paint a 300 ft long standard fence in 4 hours. Working alone, Jimmy takes |
hour and half more than John, How long does it take John to paint the same fence alone?
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7. Simplify the expression by combining the radical terms using the indicated operation(s). Assume all variables are

positive.

6ay100abh — Savdab + Sav1ddab
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8. Simplify the following radical by rationalizing the denominator.
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9. Use the Pythagorean Theorem to determine (and show) whether or not the triangle with the following sides is a right
triangle.
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1¢. Find the distance between the points given.
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